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QUESTION 1

You are providing carrier-of-carrier VPN services for AS 100 and AS 200. You want to distribute MPLS labels between
your PE routers and the AS 100 and AS 200 CE routers. 

What must be enabled to accomplish this task? 

A. Use BGP with the inet-vpn address family enabled. 

B. Use BGP with the labeled-unicast address family enabled. 

C. Use RSVP with the lsp-set parameter enabled. 

D. Use RSVP with the tunnel-services parameter enabled. 

Correct Answer: A 

 

QUESTION 2
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CE-1, CE-2, and CE-3 are part of a single VPLS VPN. An Ethernet frame has just arrived at PE-3 from CE

3. It has a source MAC address of CE-3 and a destination MAC address of CE-1. You want to know what PE-3 does
with the Ethernet frame. 

Referring to the exhibit, which statement is correct? 

A. It drops the packet because the destination MAC address is not in PE-3\\'s MAC table. 

B. It forwards the packet to PE-1 and PE-2. 

C. It forwards the packet to PE-1 only. 

D. It drops the packet because the destination MAC address is not for PE-3. 

Correct Answer: B 

 

QUESTION 3

JN0-663 Practice Test | JN0-663 Study Guide | JN0-663 Braindumps                                3 / 5

https://www.geekcert.com/jn0-663.html
https://www.geekcert.com/jn0-663.html
https://www.geekcert.com/jn0-663.html


https://www.geekcert.com/jn0-663.html
2024 Latest geekcert JN0-663 PDF and VCE dumps Download

Referring to the exhibit, what will the IS-IS cost be for R1 to reach R3? 

A. 73 

B. 20 

C. 301 

D. 310 

Correct Answer: D 

 

QUESTION 4

You are establishing a Layer 3 VPN between two PE devices. Currently you have a single internal IPv4 BGP peering
between the PE devices. You must ensure that the IPv4 and IPv6 routes from both CE devices are exchanged between
these sites. 

Which two statements are correct in this scenario? (Choose two.) 

A. You must enable IPv6 tunneling on the LSPs between the PE devices. 

B. You must establish an IPv6 BGP peering between the two PEs. 

C. You must enable the inet6-vpn NLRI on both PE devices. 

D. You must enable the inet-vpn NLRI on both PE devices. 

Correct Answer: CD 
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QUESTION 5

Which three statements are true about the show pim join output shown in the exhibit? (Choose three.) 

A. This is a source-specific multicast stream. 

B. The multicast receiver is still using the RP to receive the stream. 

C. The multicast stream has been configured with a backup path to allow for fast reroute. 

D. The multicast stream does not have an RP. 

E. The shortest path to the source is through the RP. 

Correct Answer: CDE 

JN0-663 Practice Test JN0-663 Study Guide JN0-663 Braindumps

Powered by TCPDF (www.tcpdf.org)

JN0-663 Practice Test | JN0-663 Study Guide | JN0-663 Braindumps                                5 / 5

https://www.geekcert.com/jn0-663.html
https://www.geekcert.com/jn0-663.html
https://www.geekcert.com/jn0-663.html
http://www.tcpdf.org
https://www.geekcert.com/jn0-663.html
https://www.geekcert.com/jn0-663.html
https://www.geekcert.com/jn0-663.html

